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VERY IMPORTANT :
A. The question paper consists of  3 parts (Mathematics, Physics & Chemistry). Please fill the OMR answer

Sheet  accordingly and carefully.

B. Please ensure that the Question Paper you have received contains All the questions in each Section and
Pages. If you found some mistake like missing questions or pages then contact immediately to the Invigilator.

INSTRUCTIONS

1. All questions are single correct type questions. Each of these questions has four choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.
For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to
the correct answer and zero mark if no bubble are darkened. In all other cases, minus one (–1) mark will
be awarded.

2. Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.
3. Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.

USEFUL DATA

Atomic weights: Al = 27, Mg = 24, Cu = 63.5, Mn = 55, Cl = 35.5, O = 16, H = 1, P =  31, Ag = 108, N = 14,
Li = 7, I = 127, Cr = 52, K=39, S = 32, Na = 23, C = 12, Br = 80, Fe = 56,  Ca = 40,  Zn = 65.5, Ti = 48,
Ba = 137, U = 238, Co= 59, B =11, F = 19, He = 4, Ne = 20, Ar = 40 , Mo = 96, Ni = 58.5, Sr = 87.5,
Hg = 200.5 , Tl = 204, Pb = 207 [Take : ln 2 = 0.69,  ln 3 = 1.09, e = 1.6 × 10–19, m

e
= 9.1 × 10–31 kg ]

Take  g = 10 m/s2 unless otherwise stated
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CHEMISTRY

SECTION-II
SINGLE CORRECT CHOICE TYPE

Q.1 to Q.30 has four choices (A), (B), (C), (D) out of which ONLY ONE is correct.

31. The molecular formula of a commercial resin used for exchanging ions in water softening is C
8
H

2
SO

3
Na (Mol.

wt. 206). What would be the maximum uptake of Ca2+ ions by the resin what expressed in mole per gram resin

,d okf.kT; jsf'kUk dk vkf.od lw=k C
8
H

2
SO

3
Na (vkf.od Hkkj = 206) bl jsf'kUk dks Ca2+ vk;Uk dh vf/kdre varxzZg.k

{kerk ¼eksYk izfr xzke jsftUk½ D;k gS \

(A) 
1

103
(B) 

1

206
(C) 

2

309
(D) 

1

412

Ans. (D)

Sol 2C
8
H

7
SO

3
Na + Ca2+  (C

8
H

7
SO

3
)

2
 Ca + 2Na

2 mole of resin will consume 1 mole of Ca2+

412 gm of resin will consume 1 mole of Ca2+

1 gm of resin will consume 
1

412
mole of Ca2+

32. Sodium metal crystallizes in a body centred cubic lattice with a unit cell edge of 4.29 Å. The radius of sodium

atom is approximately :

lksfM;e /kkrq ,d var% dsfUnzr ?kUkh; tkYkd esa fØLVfYkr gksrk gS ftlds dksj dh YkEckbZ 4.29 Å gSA lksfM;e ijek.kq

dh f=kT;k YkxHkx gS \

(A) 1.86 Å (B) 3.22 Å (C) 5.72 Å (D) 0.93 Å

Ans. (A)

Sol. For B. C. C.

3a 4r

3 4 29
r 1 857Å

4

.
.


 

33. Which of the following is the energy of a possible excited state of hydrogen :

fUkEUkfYkf[kr esa ls gkbMªkstUk dh laHko mRrsftr voLFkk dh ÅtkZ dkSUk lh gS \

(A) +13.6 eV (B) – 6.8 eV (C) – 3.4 eV (D) + 6.8 eV

Ans. (C)

Sol. E
n
 = 

2

2

z
13 6

n
. 

for first excited state n = 2

1
E 13 6

4
.   = – 3.4 eV

34. The intermolecular interaction that is dependent on the inverse cube of distance between the molecules is :

(A) ion - ion interaction (B) ion - dipole interaction

(C) London force (D) hydrogen bond

og varjk&v.kqd vU;ksU; fØ;k tks v.kqvksa ds chp dh nwjh ds izfrYkkse ?kUk ij fUkHkZj djrh gS] gS \

(A) vk;Uk & vk;Uk vU;ksU; (B) vk;Uk & f}/kzqo vU;ksU;

(C) YkaMUk cYk (D) gkbMªkstUk ca/kd
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CHEMISTRY

Ans. (B)

Sol. Electric field due to dipole = 3

KP

r

so force on charge 'q' = qE


Hence force between ion and dipole 3

1

r


35. The following reaction is performed at 298 K.

2 NO (g) + O
2
 (g)   2NO

2
 (g)

The standard free energy of formation of NO (g) is 86.6 kJ/mol at 298 K. What is the standard free energy of

formation of NO
2
(g) at 298 K :

fUkEUkfYkf[kr vfHkfØ;k dks 298 K ij fd;k x;k A

2 NO (g) + O
2
 (g)   2NO

2
 (g)

298 K ij NO (g) ds laHkoUk dh ekUkd eqDr ÅtkZ 86.6 kJ/mol gSA 298 K ij NO
2
(g) dh ekUkd eqDr ÅtkZ D;k gS%

(K
p
 = 1.6 × 1012)

(A) R (298) ln (1.65 × 1012) – 86600 (B) 86600 + R (298) ln (1.6 × 1012)

(C) 86600 – 
 
 

12n 1 6 10

R 298

. 
(D) 0.5 [2 × 86,600 – R (298) ln (1.6 × 1012)]

Ans. (D)

Sol.    reac f 2 fG 2 G NO g 2 G NO g. , ,     

 reac f 2G 2 G NO g 2 86600. ,       

eqG RT n K   

– R × 298 12n1 6 10.   =  f 22 G NO g 2 86600,    

    12
f 2

1
G NO g 2 86600 R 298 n1 6 10

2
, .        

36. The vapour pressure of acetone at 20°C is 185 torr. When 1.2 g of a non-volatile substance was dissolved in

100 g of acetone at 20°C, its vapour pressure was 183 torr. The molar mass (g mol–1) of the substance is :

20°C ij ,sflVksUk dh ok"i nkc 185 torr gSA tc 20°C ij] 1.2 g vok"i'khYk inkFkZ dks 100 g ,sflVksUk esa ?kksYkk x;k]

rc ok"i nkc 183 torr gks x;k A bl inkFkZ dk eksYkj nzO;ekUk (g mol–1 esa) gS %

(A) 32 (B) 64 (C) 128 (D) 488

Ans. (B)

Sol. sP P

P

 


= X

solute

1 2
185 183 M

1 2 100185
M 58

.

.






M = 63.684
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37. The standard Gibbs energy change at 300 K for the reaction 2A   B + C is 2494 J. At a given time, the

composition of the reaction mixture is [A] = 
1

2
, [B] = 2 and [C] = 

1

2
. The reaction proceeds in the [R = 8.314

J/K/mol, e = 2.718]

(A) forward direction because Q > K
c

(B) reverse direction because Q > K
c

(C) forward direction because Q < K
c

(D) reverse direction because Q < K
c

300 K ij vfHkfØ;k 2A   B + C ekUkd eqDr ÅtkZ 2494 J gSA fn;s x;s le; esa vfHkfØ;k feJ.k dk la?kVUk

[A] = 
1

2
, [B] = 2 rFkk [C] = 

1

2
 gSA vfHkfØ;k vxzflr gksrh gS %

[R = 8.314 J/K/mol, e = 2.718]

(A) vxz fn'kk esa D;ksafd Q > K
c

(B) foijhr fn'kk esa D;ksafd Q > K
c

(C) vxz fn'kk esa D;ksafd Q < K
c

(D) foijhr fn'kk esa D;ksafd Q < K
c

Ans. (B)

Sol.  eqG RT n K    

2494.2 = –2.303 × 8.314 × 300 log K
eq

log K
eq

 = – 0.4342

 K
eq

 = 0.36

2A   B + C

2

12
2Q 4

1

2


 
 
 
 

Hence Q > K
c
 and reaction will move in backward direction

38. Two Faraday of electricity is passed through a solution of CusO
4
. The mass of copper deposited at the

cathode is : (at mass of Cu = 63.5 amu) [JEE (Main) 2015]

CusO
4 
ds ,d foYk;Uk esa] nks QSjkMs fo|qr izokfgr dh xbZ A dSFkksM ij fUk{ksfir rkacs dk nzO;ekUk gS %

(Cu  dk ijekf.od nzO;ekUk = 63.5 amu) [JEE (Main) 2015]

(A) 0 g (B) 63.5 g (C) 2 g (D) 127 g

Ans. (B)

Sol. Cu2+(aq) + 2e–  Cu (s)

W = 
E

I t
96500

 

63 5
W 2 96500

2 96500

.
  



= 63.5 gm
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39. Higher order (>3) reactions are rare due to :

(A) low probability of simultaneous collision of all the reacting species

(B) increase in entropy and activation energy as more molecules are involved

(C) shifting of equilirbium towards reactants due to elastic collisions

(D) loss of active species on collision

mPp dksfV vfHkfØ;k (>3) nqYkZHk gS D;kasfd

(A) izfrfØ;k esa lHkh iztkfr;ksa ds ,d lkFk VDdj dh laHkkoUkk de gksrh gSA

(B) vf/kd v.kqvksa ds 'kkfeYk gksUks ls ,aVªkih vkSj lfØ;.k ÅtkZ esa o`f) gksrh gSA

(C) Ykkspnkj Vdjko ds dkj.k vfHkdkjdksa dh fn'kk esa lkE; dk LFkkUkkUrj.k gksrk gSA

(D) Vdjko ds lfØ; Lih'kht dk {k; gksrk gSA

Ans. (A)

Sol. Due to low probability of simultaneous collision of all the reacting species

40. 3 g of activated charcoal was added to 50 mL of acetic acid solution (0.06 N) in a flask. After an hour it was

filtered and the strength of the filtrate was found to be 0.042 N. The amount of acetic acid adsorbed (per gram

of charcoal) is :

,d ¶YkkLd esa 0.06 N ,flfVd vEYk ds 50 ml foYk;Uk esa 3 g  lfØ;r~ dk"B dks;Ykk feYkk;k x;kA ,d ?kaVs ds i'Pkkr~

mls NkUkk x;k vkSj fUkLian dh izcYkrk 0.042 N ikbZ xbZA vf/k'kksf"kr ,flfVd vEYk dh ek=kk (dk"B dks;Ykk ds izfr xzke

ij) gS &

(A) 18 mg (B) 36 mg (C) 42 mg (D) 54 mg

Ans. (A)

Sol. Initial mole of CH
3
COOH = 0.06 × 50 × 10–3

final mole of CH
3
COOH = 0.042 × 50 × 10–3

mass of acetic acid adsorbed =

[0.06 × 50 × 10–3 – 0.042 × 50 × 10–3] × 60

= 50 × 103 [0.06 – 0.042] × 60

= 54 mg

amount of acetic acid adsorbed per gm of

charcol = 
54

3
mg = 18 mg

41. The ionic radii (in Å) of N3–, O2– and F– are respectively :

(A) 1.36, 1.40 and 1.71 (B) 1.36, 1.71 and 1.40

(C) 1.71, 1.40 and 1.36 (D) 1.71, 1.36 and 1.40

N3–, O2– rFkk F– dh vk;fUkd f=kT;k;sa (Å esa) Øe'k% gS

(A) 1.36, 1.40 rFkk 1.71 (B) 1.36, 1.71 rFkk 1.40

(C) 1.71, 1.40 rFkk 1.36 (D) 1.71, 1.36 rFkk 1.40

Ans. (C) size 
1

2

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Sol. Order of size is N3–> O2– > F–

42. In the context of the Hall - Heroult process for the extraction of Al, which of the following statement is false :

(A) CO and CO
2
 are produced in this process

(B) Al
2
O

3
 is mixed with CaF

2
 which lowers the melting point of the mixture and brings conductivity

(C) Al3+ is reduced at the cathode to form Al.

(D) Na
3
AlF

6
 serves as the electrolyte

gkWYk & gsjkWYV izØe ls ,sYkqfefUk;e ds fu"d"kZ.k ds lanHkZ esa dkSUk lk xYkr gS &

(A) bl izØe esas CO rFkk CO
2
 dk mRiknUk gksrk gSA

(B) CaF
2
  dks Al

2
O

3
 esa feYkkUks ij feJ.k dk xYkUkkad de gksrk gS mlesa pkYkdrk vkrh gSA

(C) dSFkksM ij Al3+ vipf;r gksdj Al cUkkrk gSA

(D) Na
3
AlF

6
 fo|qr vi?kV~; dk dke djrk gSA

Ans. (D)

Sol. (1) In this process, carbon anode is oxidised to CO and CO
2
.

(2) It is a fact

(3) At cathode, Al3+ from Al
2
O

3
 is reduced to Al.

(4) Al
2
O

3
 is the electrolyte, which is undergoing the redox process. So, Al

2
O

3
 serves as electrolyte and Na

3
AlF

6
,

although an electrolyte, serves as solvent.

43. From the following statements reagarding H
2
O

2
, choose the incorrect statement :

(A) It can act only as an oxidizing agent

(B) It decomposes on exposure to light

(C) It has to be stored in plastic or was lined glass bottles in dark

(D) It has to be kept away from dust

H
2
O

2 
ds lanHkZ esa, fUkEUkfYkf[kr dFkUkksa esa ls xYkr dFkUk dks pqfUk;s &

(A) ;g dsoYk vkWDlhdkjd gSA

(B) izdk'k esa bldk vi?kVUk gksrk gSA

(C) bls IYkkfLVd ;k ekse vVs dkap cksrYkksa esa va/ksjs esa laxzfgr fd;k tkrk gSA

(D) bls /kwYk ls nwj j[kUkk pkfg;s A

Ans. (A)

Sol. H
2
O

2 
act as oxidizing as well as reducing agent.

and H
2
O

2
 decomposes on exposures to light and dvst, so it is kept in plastic or wax lined glass bottles in dark.

44. Which one of the following alkaline earth metal sulphates has its hydration enthalpy greater than its lattice

enthalpy

fUkEUkfYkf[kr esa ls dkSUk ls {kkjh; e`nk /kkrq lYQsV dh tYk;kstUk ,sUFkkYih mlds tkYkd ,sUFkkWYih ls vf/kd gS

(A) CaSO
4

(B) BeSO
4

(C) BaSO
4

(D) SrSO
4

Ans. (B)

Ans. Solubility of alkaline earth metal

Sulphate decreases on moving down the group.

Hence BeSO
4
 is most soluble and its hydration enthalpy is greater than lattice enthalpy.

45. Which among the following is the most reactive :

fUkEUkfyf[kr esa ls dkSUk lokZf/kd vfHkfØ;k'khYk gS \
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(A) Cl
2

(B) Br
2

(C) I
2

(D) ICl

Ans. (D)

Sol. Interhalogen compounds are more reactive than halogens

46. Match the catalysts to the correct process :

Catalyst Process

(P) TiCl
3

(i) Wacker process

(Q) PdCl
2

(ii) Ziegler - Natta  polymerization

(R) CuCl
2

(iii) Contact process

(S) V
2
O

5
(iv) Deacon's process

fn;s x;s mRizsjdksa dks lgh izØe ds lkFk lqesfYkr djsa &

mRizsjd izØe

(P) TiCl
3

(i) okWdj izØe

(Q) PdCl
2

(ii) RlhXYkj & UkV~Vk cgqYkdhdj.k

(R) CuCl
2

(iii) laLi'kZ izØe

(S) V
2
O

5
(iv) MhdUk izØe

Codes :

(A) P - iii, Q - ii, R - iv, S - i (B) P - ii, Q - i, R - iv, S - iii

(C) P - ii, Q - iii, R - iv, S - i (D) P - iii, Q - i, R - ii, S - iv

Ans. (B)

Sol. (P) TiCl
3

Ziegler - Natta polymerization

(Q) PdCl
2

Wacker process

(R) CuCl
2

Deacon's process

(S) V
2
O

5
Contact process

47. Which one has the highest boiling point :

fuEUkfYkf[kr esa ls lokZf/kd DoFkUkkad fdldk gS \

(A) He (B) Ne (C) Kr (D) Xe

Ans. (D)

Sol. As molar mass increases, strength of Vander wall forces increases. Hence boiling point of Xe is highest.

48. The number of geometric isomers that can exist for square planar [Pt (Cl) (py) (NH
3
) (NH

2
OH)]+ is

(py = pyridine) :

oxZ leryh; [Pt (Cl) (py) (NH
3
) (NH

2
OH)]+  (py = pyridine) ds T;kfefr; leko;fo;ksa dh la[;k g

(A) 2 (B) 3 (C) 4 (D) 6

Ans. (B)

Sol. For M (abcd) type of square planar complexes, no. of geometrical isomers is 3

M
a b

a c
 M
a c

d b
M

a b

c d

49. The color of KMnO
4
 is due to :

(A ) M   L charge transfer transition (B) d – d transition

(C) L  M charge transfer transition (D) – * transition

KMnO
4
 ds jax dk dkj.k gksrk gS \

CHEMISTRY
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(A) M  L vkos'k LFkkUkkUrj.k laØe.k (B) d – d laØe.k

(C) L  M vkos'k LFkkUkkUrj.k laØe.k (D) – * laØe.k

Ans. (C)

Sol. L  M charge transfer transition

Colour of KMnO
4
 is due charge transfer from oxygen (Ligand) to Mn(Metal) i.e. charge transfer from L  M.

50. Assertion : Nitrogen and Oxygen are the main components in the atmosphere but these do not react to form

oxides of nitrogen.

Reason : The reaction between nitrogen and oxygen requires high temperature.

(A) Both Assertion and Reason are correctm, and Reason is the correct explanation of Assertion.

(B) Both Assertion and Reason are correct, but Reason is not correct explanation of Assertion

(C) The assertion is incorrect, but Reason is correct

(D) Both the assertion and reason are incorrect.

vfHkdFkUk : UkkbVªkstUk vkSj vkWDlhtUk okrkoj.k ds eq[; ?kVd gS ijUrq ;g fØ;k djds UkkbVªkstUk ds vkWDlkbM Ukgha cUkkrs

gSA

rdZ : UkkbVªkstUk vkSj vkWDlhtUk ds chp vfHkfØ;k ds fy, mPp rki dh vko';drk gSA

(A) vfHkdFkUk vkSj rdZ nksUkkas lgh gS vkSj rdZ vfHkdFkUk dk lgh Li"Vhdj.k ugha gSA

(B) vfHkdFkUk vkSj rdZ nksUkksa lgh gS ijUrq rdZ vfHkdFkUk dk lgh Li"Vhdjk. ugha gSA

(C) vfHkdFkUk xYkr gS ijUrq rdZ lgh gSA

(D) vfHkdFkUk o rdZ nksUkksa xYkr gSA

Ans. (A)

Sol. Assertion is true because it is an observation that nitrogen being highly stable does not react with oxygen in

atmosphere. The reaction to form oxides of nitrogen takes place at higher temperature ( 2000 K as per

NCERT). So, reason is correct and also the correct explanation of the assertion.

51. In Carius method of estimation of halogens, 250 mg of an organic compound gave 141 mg of AgBr. The

percentage of bromine in the compound is :

(at. mass Ag = 108; Br = 80)

gSYkkstUk ds vkdYkUk dh dSfjvl fof/k esa] 250 mg dkcZfUkd ;kSfxd 141 mg AgBr nsrk gSA ;kSfxd esa czksehUk dh izfr'krrk

gS :

(ijekf.od nzO;ekUk Ag = 108; Br = 80)

(A) 24 (B) 36 (C) 48 (D) 60

Ans. (A)

Sol. Organic Compound  AgBr

Moles of AgBr = 
3141 10

188



mass of 'Br' = 3141
80 10

188
   gm
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% of Br = 
3

3

141
80 10

188 100
250 10





 




= 24

52. Which of the following compounds will exhibit geometrical isomerism :

(A) 1 - Phenyl - 2 - butene (B) 3 - Phenyl - 1 - butene

(C) 2 - Phenyl - 1 - butene (D) 1, 1 - Diphenyl - 1 - propane

fUkEUkfyf[kr esa ls dkSUk lk ;kSfxd T;kfefr; leko;ork n'kkZrk gS \

(A) 1 - QsfUkYk - 2 - C;wVhUk (B) 3 - QsfUkYk - 1 - C;wVhUk

(C) 2 - QsfUkYk - 1 - C;wVhUk (D) 1, 1 - MkbZQsfUkYk - 1 - izksisUk

Ans. (A)

Sol. Ph – CH  C = C 2 –
H

2 3

4

1

H

CH3

1 - Phenyl - 2 - butene

53. Which compound would give 5 - keto - 2 - methyl hexanal upon ozonolysis :

vkstksUkksfyfll djus ij dkSUk lk ;kSfxd 5 - dhVks - 2 - esfFkYk gsDtkUkYk nsrk gS \

(A) 

CH3

CH3 (B) 

CH3

CH3

(C) 

CH3

CH3

(D) 

CH3

H C3

Ans. (B)

Sol.

CH3

CH3

 
 

 
3

2

i O

ii Zn H O,


CH3

OO

CH3

54. The synthesis of alkyl fluorides is best accomplished by :

(A) Free radical fluorination (B) Sandmeyer's reaction

(C) Finkelstein reaction (D) Swarts reaction

vYdkbYk] ¶YkksjkbM+ ds la'Yks"k.k ds fy, lcls csgrjhUk fof/k gS \

(A) eqDr ewYkd ¶YkksfjUks'kUk (B) lSUMek;j vfHkfØ;k

(C) fQadYkLVkbUk vfHkfØ;k (D) LokVZl vfHkfØ;k

Ans. (D)

Sol. Replacement of Cl & Br atom is done by
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F  ion using SN2 Rx. As free radial reaction is    explosive

R – X + F  ---> R – F + X

(Cl & Br)

55. In the following sequence of reactions :

fn;s x;s vfHkfØ;k vuqØe es mRikn C gS

Toulene 4 2 2

4

KMnO SOCl H

BaSO
A B C

/ Pd
,  

the product C is :

(A) C
6
H

5
COOH (B) C

6
H

5
CH

3
(C) C

6
H

5
CH

2
OH (D) C

6
H

5
CHO

Ans. (D)

Sol.

CH3

Toluene

 4KMnO
 

COOH

 2SOCl
 

C

O

C

2

4

H /Pd

BaSO

C – H

O

56. In the reaction

NH2

CH3

2NaNO HCl CuCN KCN

0 5 C
D

/ /

  
   E + N

2

the product E is :

fn, x, vfHkfØ;k esa mRikn E gS %

NH2

CH3

2NaNO HCl CuCN KCN

0 5 C
D

/ /

  
   E + N

2

(A) 

COOH

CH3

(B) CH3H3C  (C) 

CN

CH3

(D) 

CH3

Ans. (C)

CHEMISTRY
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CHEMISTRY

Sol.

NH2

CH3

2NaNO HCl

0 5 C

/

 
  

CH3

N N Cl

CuCN KCN/


  

CH3

+ N2

CN

57. Which polymer is used in the manufacture of paints and lacquers :

(A) Bakelite (B) Glyptal (C) Polypropene (D) Poly vinyl chloride

fdl cgqYkd dk mi;ksx iz{ksi vkSj izYkk{k cUkkUks esa gksrk gS \

(A) csdsYkkbV (B) fXYkIVkYk (C) ikWfYkizksihUk (D) ikWfYk okbfUkYk DYkksjkbM

Ans. (B)

Sol.

Ethylene glycol 

HO – CH  – CH  – OH2 2  + 

COOH

COOH
Pthalic acid

   
Glyptal 

Used for paint & lacquers

58. Which of the vitamins given below is water soluble

(A) Vitamin C (B) Vitamin D (C) Vitamin E (D) Vitamin K

fUkEUkfYkf[kr foVkfeUkksa esa tYk esa foYks; gksUks okYkk gS \

(A) foVkfeUk C (B) foVkfeUk D (C) foVkfeUk E (D) foVkfeUk K

Ans. (A)

Sol. Vitamin C is water soluble.

59. Which of the following compounds is not an antacid :

(A) Aluminium hydroxide (B) Cimetidine (C) Phenelzine (D) Ranitidine

fUkEUkfyf[kr esa ls dkSUk lk ;kSfxd izfrvEYk ugha gS \

(A) ,sYkqfefu;e gkbMªkDlkbM (B) flesfVMhUk (C) fQufYtUk (D) jSfUkfVMhUk

Ans. (C)

Sol. Phenelzine is anti-depressant

60. Which of the following compounds is not colored yellow :

fn;s x;s ;kSfxdksa esa dkSUk ls ;kSfxd dk jax ihYkk ugha gS

(A) Zn
2
 [Fe(CN)

6
] (B) K

3
[Co(NO

2
)

6
]

(C) (NH
4
)

3
 [As (Mo

3
 O

10
)

4
] (D) BaCrO

4

Ans. (A)

Sol. Fe2+ are paired & Compound in colourless.

Zn
2
[Fe(CN)

6
] is bluish white and rest are yellow colored compounds.


